i 1.:\.
’{;?\‘D’ ///f

DY : /100
PREF : 40 DiE

RESHEARNH - TR IISE - (8810 H67)

. BfEa#EFRE . Rk e
2. sy E Rk e
3. EMEMAfLEEHE o

2 T 75 + @A 4 smAascEiE °

SR TNIEE - (BE2D H49)
5. IR TEHGETF » Bl R DAz H o

s) o 8 4 8

T&@eHEFF

-

He7) k| K BATAB K o

7. BEBEGREHR2*ZR/BR/ K/ AL
8. #HEECITWHEEMHLTIOZR/EXR/ K/ AE o
9. —HRTENREXHAISO*ZR/BEK/ K/ AE -
10. BF R RELHA0*ZTR/BER/ K/ Ao
N EPIABEERYE20ZER/BE/ K/ AR
12 ARSREAEL O ER /B K /AR -




BETIISE - (§E25 - #£205)

13. 18 x 6= 14. 85x 4=
15. 156 x 8 = 16. 238 x5 =
17. 25 xTx 4= 18. 9x 15x 8=
19. 20. 21.

4)92 5)67 8)497

v 4

SETISE  UREBR - (BE2H - H6D)

22.

9)934

23.288 + 8 = B
24.79 +3 = BR A
25.794 +9 = B Ao

BB EREENEBER - (BB20 - HK129)
26. THR—IRAFXGHRK ?

O A.69+4 (O B. 98+8

O C. 87+17 (O D. 78 +4
27. TR —MR A XA HA 0 ?

O A. 254 +8 (O B. 381+7

(O C. 441+3 (O D. 598 +4




e Sy e Arg = g el
/ N - 2P v q -
- . ' : 2 I L

o, . |
7= ¢ r%&a éizmﬁﬁ
12 EEmE? £\

TNBERYTIUEER ? 28 £#BBRI] v : R8T x °

) m#iEsEE 2 HiE

2 3. 4,
Q 6 Q7 8
D O @ W

TR RIS E - O mmrankm: 456

O O

1.
5.

9. A B ZBY¥  ABCD 2 —1@E-FiTmigH o
/ / X AB=16cm A= AD=11cm * A} &
D C =16 cm - =1lcm o

10. E F ZB+ » EFGH # —8-F 47 wigf o
4R GH=10cm ## FG=30cm  Af &
=10cm - =30cm o
H G

N. EBG4THRTH—EELEXE  ATHELSH X TER—EF4H
S 2 Aey 0 ERBENITV ) RTES 3T X o

() # B B4 4% —# O
(b) # C =&y A4 —# O
() # D 2 LA —# O

(© %8 mestmmanm s o -




[ ey - 8

I FIERR ? [Efe - 58RI v 3 NERE - 37 X -

RBIESEN 308

N

12. EFHE—FF47mwEH o

N\

18. FATWEHBE—EEFTH -
14, FA7e9 & %8 W43t P AT B AR 5 o
15, FATWEBTRALA o

IR - T NOISDE - ) Emirsnm : 2 5%

16. mZWmfc s SLRAGALYL 17. mE =A% LARABALY
R T ATwE T o MRARBLANTHADETRE o

B

TSR BEHARATIUEEN ? 820) - EBBRF] v+ ReEfy - F x -

RBIESHY : 305

18. 19.

O O

20. 21.

O O




: = RIAEE b=
b=

TSI - IREEEESERIERR * AHERFE - EEENHBARIT V] - R
BERRMARFS -

2ULE T noue 7 mEs

el 1

53l 2
#5353
58l 4
#55l 5
53l 6
53l 7
53l 8
#5389
#5350 10
REEll
#5350l 12
#5513
K55l 14
K550l 15

ST S iRS AR - S5 FECH 28K - ERFHEECHRE - £EENSBRIT V] -
REBBRRBARES °

=T 7 wawE 7 azsn

=p:lla /100
[ \CI7EIJ5§ 2 / ]OO
REBI%E 3 /100




